

PUBLIC INTEREST ADVOCACY CENTRE LE CENTRE POUR LA DÉFENSE DE L'INTÉRÊT PUBLIC

January 14, 2019

Ms. Kirsten Walli Board Secretary Ontario Energy Board 2300 Yonge St. Toronto, ON M4P 1E4 VIA E-MAIL

PIAC File # 6696 9 pages

Dear Ms. Walli:

Re:

EB-2017-0224 - EB 2017-0255 EB 2017-0275

Joint Proceeding of 2018 Cap and Trade Compliance Plans
Cost Claim of Vulnerable Energy Consumers Coalition (VECC)

Please find enclosed the Cost Claim of Vulnerable Energy Consumers Coalition (VECC) with respect to the above-noted proceeding. We also directed a copy to the applicants via email.

Yours truly,

John Lawford

Counsel for VECC

Cc: EGDI, Union, NRG

2-285 McLeod Street, Ottawa, ON K2P 1A1Tel: 613-562-4002 Fax: 613-562-0007 piac@piac.ca; www.piac.ca Direct: Tel: 613-447-8125 jlawford@piac.ca

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

This form should be used by a party to a hearing before the Board to identify the fees and disbursements that form the party's cost claim. Paper and electronic copies of this form and itemized receipts must be filed with the Board and served on one or more other parties as directed by the Board in the applicable Board order. Please ensure all required (yellow-shaded) fields are filled in and the Affidavit portion is signed and sworn or affirmed.

Instructions

| | | | | rmulas are embedded in the form to assis | |
|-------------------|--|----------------------------|-------------------------------|---|--|
| - All Claims II | nust be in Can | adian dollars. If applic | cable, state e Rate: | xchange rate and country of initial curren | |
| Disbursemen | nts Being Clain | ned") is required for ea | eing Claimed ach lawyer, a | "(comprising a "Statement of Fees Being nalyst/consultant and articling student/pa | Claimed" and a "Statement of aralegal. |
| | | | | vering the whole of the party's cost claim | should be provided. |
| | | | | igned by a representative of the party. | |
| - A CV for ea | ch consultant, | analyst must be attac | hed unless pi | ovided to the Board as prescribed on the | Cost Award Tariff. |
| Ev | cent as provid | led in section 7.02 of | ho Practice | Direction on Cost Awards, itemized recei | nts must be provided |
| LA | cept as provid | ied iii sectioni 7.03 or i | ile Fractice | Direction on cost Awards, itemized recei | ots must be provided. |
| File # EB- | EB 2017-02 | 24-0255-0275 | | Process: Enbridge/Union/EPCOR | |
| Party: | VECC | | | Affiant's Name: Donna Brady | |
| HST Number | er: <u>13059</u> | 2405 | | HST Rate Ontario | :3.94% |
| | | Full Registrant | | Qualifying Non-Profi | t 🗸 |
| | | Unregistered | \Box | Tax Exemp | 100 Y <u>25-1</u> 5. |
| | | Other | | Tax Exemp | . ⊔ |
| I, in the Prov | vince/State | Donna Brady | ntario | , of the City/Town of, swear or a | Ottawå |
| | and the first share a second and a second state of the first state of the second second second second second s | | | | |
| | | | | ') and as such have knowledge of the mat | |
| | | | | cost claim, including the attached "Sumn | |
| | | | | atement(s) of Disbursements Being Claim Claimed", "Statement(s) of Fees Being Clai | |
| | | | | d time spent directly for the purposes of t | |
| | | cess referred to above. | | a time spent directly for the purposes of t | ne raity's participation in the |
| | | | | r time spent, by a person that is an emplo | yee or officer of the Party as |
| | | | | ection on Cost Awards. | .0 |
| | | , | | | |
| | <u> </u> | 9 | _/- | | |
| Signature | of Affiant | ý | | | |
| Sworn or a | affirmed be | fore me at the City | //Town of | Ottawa | ACCES. |
| | vince/State | | Ontario | on TAN | 14-2019 |
| | 3.5 | | | (da | te) |
| | 1 | | | • 0,00 | NOTE: |
| | | | | | |
| Commission | oner for tak | ing Affidavits | | | |
| -011111113311 | JIICI IOI LAN | mig Ailluavits | | | |

Ontario Energy Board COST CLAIM FOR HEARINGS



Affidavit and Summary of Fees and Disbursements

Process: Enbridge/Union/FPCOR

File # EB- EB 2017-0224-0255-0275

| | ED 2017 0224 025 | 3 02/3 | Process. Lii | Frocess. Elibridge/Officit/EFCOK | | | | |
|-----------|--------------------|----------------|-------------------|----------------------------------|--|--|--|--|
| Party: | VECC | | | | | | | |
| | | Summary of Fee | es and Disburseme | ents Being Claimed | | | | |
| Legal/con | sultant/other fees | \$ | 19,932.50 | | | | | |
| Disbursen | ments | \$ | | | | | | |
| HST | | \$ | 785.34 | | | | | |
| Total Cos | t Claim | \$ | 20,717.84 | | | | | |
| | | | | | | | | |
| | | | Payment Informat | ion | | | | |

Make cheque payable to:

Public Interest Advocacy Centre

2-285 McLeod Street

Ottawa, ON

K2P 1A1

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

| File # EB- | EB 2017-0224-0255-0275 | | Process: E | nbridge/Union/EPCOR | |
|------------|--|--------------|-------------------------------|--|-------------|
| Party: | VECC | | Service Pro | ovider Name: Ben Segel-Brow | /n |
| | SERVICE PROVIDER TYPE Legal Counsel | (check one) | Year Called to Bar 2017 | Completed Practising/Years Experie | of Relevant |
| | Articling Student/Paralegal Consultant Analyst | | 2027 | Hourly Rate: | \$170 |
| | For Consultant/Analyst: | | ched ided within previous | HST Rate Charged (enter %): | 3.9% |

| St | atement o | f Fe | es Being | Cla | imed | DIX. | Tell I | - 1 | |
|-----------------------------|-----------|------|-----------|-----|----------------|------|--------|-----|-------------------|
| | Hours | _ | urly Rate | _ | Subtotal | | HST | | Total |
| Pre-hearing Conference | | | | | | | | | |
| Preparation | 14.00 | \$ | 170.00 | \$ | 2,380.00 | \$ | 93.77 | \$ | 2,473.77 |
| Attendance | | \$ | 170.00 | \$ | . . | \$ | - | \$ | = |
| Technical Conference | | | | | | | | | |
| Preparation | | \$ | 170.00 | \$ | - | \$ | 2 | \$ | X e X= |
| Attendance | | \$ | 170.00 | \$ | - | \$ | * | \$ | 2#9 |
| Interrogatories | | | | | | | | | |
| Preparation | | \$ | 170.00 | \$ | - | \$ | - | \$ | - |
| Responses | | \$ | 170.00 | \$ | 9 | \$ | | \$ | |
| Issues Conference | | | | | | | | | |
| Preparation | | \$ | 170.00 | \$ | - | \$ | - | \$ | (-) |
| Attendance | 1 | \$ | 170.00 | \$ | 77 | \$ | - | \$ | |
| ADR - Settlement Conference | | | | | | | | | |
| Preparation | | \$ | 170.00 | \$ | 4 | \$ | 2 | \$ | - |
| Attendance | | \$ | 170.00 | \$ | i i | \$ | 2 | \$ | (sec) |
| Proposal Preparation | | \$ | 170.00 | \$ | - | \$ | - | \$ | (#) |
| Argument | | | | | | | | | |
| Preparation | 9.00 | \$ | 170.00 | \$ | 1,530.00 | \$ | 60.28 | \$ | 1,590.28 |
| Oral Hearing | | | | | | | | | *** |
| Preparation | | \$ | 170.00 | \$ | <u>:</u> | \$ | 2 | \$ | (4) |
| Attendance | | \$ | 170.00 | \$ | - | \$ | - | \$ | - |
| Other Conferences | | | | | | | | | |
| Preparation | | \$ | 170.00 | \$ | - | \$ | - | \$ | - |
| Attendance | | \$ | 170.00 | \$ | 9 | \$ | 8 | \$ | |
| Case Management | | \$ | 170.00 | \$ | - | \$ | - | \$ | (#: |
| TOTAL SERVICE PROVIDER FEES | | | | \$ | 3,910.00 | \$ | 154.05 | \$ | 4,064.05 |

Jan 04, 2019 08:18:16

Include Transactions:

Public Interest Advocacy Centre

Client Summary

Date of Report:

Sort by:

Jan 01, 1980

Jan 04, 2019

to

Jan 04, 2019 Alphabetic

Report by:

Responsible Lawyer

Firm

6696

6696 to

Page:

User:

7

Client Range:

For Lawyer(s):

Area of Law Range: 1 to 199

Non-billable Time Excluded

| Client # | Mat Client Name Code | Matter | Description | Resp Work in Progress | 3603004000 | | Billed | |
|----------|--|---------------|-------------|--------------------------|------------|-------|--------|-------|
| Date | N/B Description | Indiv | Hours | Fees | Disb. | Hours | Fees | Disb. |
| 6696 | OEB EB-2017-0224 E | TAL OEB | | BSB | | | | |
| 03/08/18 | Research, drafting request to intervene | BSB | 2.00 | 340.00 | | | | |
| 04/04/18 | Reviewing file, identifying ikey issues and evidence for vulnerable consumers, assigning to analyst | BSB | 3.50 | 595.00 | | | | |
| 04/16/18 | Call providing direction to analyst | BSB | 0.50 | 85.00 | | | | |
| 04/20/18 | Review of materials, correspondence with analysts | BSB | 3.00 | 510.00 | | | | |
| 04/23/18 | File review and direction to analyst | BSB | 2.00 | 340.00 | | | | |
| 04/27/18 | Developing position through consultations with Shelly | BSB | 1.00 | 170.00 | | | | |
| 05/10/18 | Drafting procedural letter | BSB | 1.50 | 255.00 | | | | |
| 05/11/18 | Finalizing and submitting procedural letter | BSB | 0.50 | 85.00 | | | | |
| 05/18/18 | Correspondence with analyst | BSB | 1.00 | 170.00 | | | | |
| 05/28/18 | Reviewing and responding to draft, reviewing record | BSB | 3.00 | 510.00 | | | | |
| 05/30/18 | Review and comment, research | BSB | 1.00 | 170.00 | | | | |
|)5/31/18 | Review and comment, research | BSB | 2.00 | 340.00 | | | | |
|)5/31/18 | Review and comment, research | BSB | 2.00 | 340.00 | | | | |
| Tot | al Client: | S | 23.00 | 3,910.00 | 0.00 | 0.00 | 0.00 | 0.00 |
| Gra | and Total: | 7 | 23.00 | 3,910.00 | 0.00 | 0.00 | 0.00 | 0.00 |

Benjamin Dean Segel-Brown Professional Corporation PH08-1203 Maritime Way Ottawa, ON K2K 0H5

STATEMENT OF ACCOUNT

January 11, 2019

TO: VULNERABLE ENERGY CONSUMERS COALITION

c/o Public Interest Advocacy Centre 2-285 McLeod Street Ottawa, ON K2P 1A1

Re: EB 2017-0224-0255-0275 Enbridge/Union/EPCOR

Vulnerable Energy Consumers Coalition (VECC)

Cost Claim

For Services Rendered as Counsel in the above-noted matter.

RATE: \$170.00 per hour

To receipt, and review on behalf of VECC in the above-noted proceeding.

March 2018 - May 2018

TO: Hours

23.0 Hours @ 170.00 per hour =

\$3,910.00

HST @ 13%

50.83

TOTAL AMOUNT DUE AND OWING:

\$3,960.83

Benjamin Dean Segel-Brown Professional Corporation CRA Account Number - 78729 8488 RT0001

Ontario Energy Board COST CLAIM FOR HEARINGS



Detail of Fees and Disbursements Being Claimed

| File # EB- | 2017-0255 | | Process: U | nion Gas Limited 2018 C&T Co | ompliance Plan |
|------------|--|--------------|-----------------------|--|----------------|
| Party: | VECC | | Service Pro | vider Name: Shelley Grice P. | Eng. |
| | SERVICE PROVIDER TYPE | (check one) | Year Called to Bar | Completed Practising/Years Experie | of Relevant |
| | Legal Counsel | | | 20 | |
| | Articling Student/Paralegal Consultant Analyst | ☐ ☑ | | Hourly Rate: | \$290 |
| | For Consultant/Analyst: | ☐ CV attac | hed | HST Rate Charged (enter %): | 3.9% |
| | === | ✓ CV provi | ided within previous | 24 months | |

| St | atement c | of Fe | es Being | Cla | imed | | | | |
|--|-----------|-------|-----------|-----|--------------|----|-------------------|----|-----------|
| | Hours | Но | urly Rate | | Subtotal | | HST | | Total |
| Pre-hearing Conference | | | | | | | | | |
| Preparation | | \$ | 290.00 | \$ | - | \$ | | \$ | <u>.</u> |
| Attendance | | \$ | 290.00 | \$ | 33 | \$ | - | \$ | 2 |
| Technical Conference | | | | | | | | | |
| Preparation | 5.00 | \$ | 290.00 | \$ | 1,450.00 | \$ | 57.13 | \$ | 1,507.13 |
| Attendance | 8.00 | \$ | 290.00 | \$ | 2,320.00 | \$ | 91.41 | \$ | 2,411.41 |
| Interrogatories | | | | | | | | | |
| Preparation | | \$ | 290.00 | \$ | - | \$ | | \$ | |
| Responses | 5.50 | \$ | 290.00 | \$ | 1,595.00 | \$ | 62.84 | \$ | 1,657.84 |
| Issues Conference | | | | | | | | | |
| Preparation | | \$ | 290.00 | \$ | 9#9 | \$ |) =) | \$ | - |
| Attendance | | \$ | 290.00 | \$ | - | \$ | - | \$ | - |
| ADR - Settlement Conference | | | | | | | | | |
| Preparation | | \$ | 290.00 | \$ | (4) | \$ | 9 | \$ | - |
| Attendance | | \$ | 290.00 | \$ | - | \$ | 346 | \$ | - |
| Proposal Preparation | | \$ | 290.00 | \$ | - | \$ |) = 0 | \$ | - |
| Argument | | | | | | | | | |
| Preparation | 8.25 | \$ | 290.00 | \$ | 2,392.50 | \$ | 94.26 | \$ | 2,486.76 |
| Oral Hearing | | | | | | | | | |
| Preparation | 11.50 | \$ | 290.00 | \$ | 3,335.00 | \$ | 131.40 | \$ | 3,466.40 |
| Attendance | 17.00 | \$ | 290.00 | \$ | 4,930.00 | \$ | 194.24 | \$ | 5,124.24 |
| Other Conferences | | | | | | | | | |
| Preparation | | \$ | 290.00 | \$ | - | \$ | (7)) | \$ | _ |
| Attendance | | \$ | 290.00 | \$ | (<u>4</u>) | \$ | <u>9</u> 7 | \$ | 2 |
| Case Management | | | | \$ | 14 | \$ | 148 | \$ | - |
| TOTAL SERVICE PROVIDER FEES | | | | \$ | 16,022.50 | \$ | 631.29 | \$ | 16,653.79 |
| AND THE PROPERTY OF THE PROPER | | | | 7 | 10,022.30 | 7 | 031.23 | 7 | 10,033.7. |

Econalysis Consulting Services Inc.

34 King St East Suite 600 Toronto, Ontario M5C 2X8

Bill To

Public Interest Advocacy Centre
Suite 1204
1 Nicholas Street
Ottawa, ON
K1N 7B7

Statement of Costs

| Date | File # |
|-----------|---------|
| 1/11/2019 | 2019003 |

| Terms | Docket No. |
|--------|--------------|
| Net 30 | EB-2017-0255 |

Project

Union 2018 C&T Compliance

| Serviced | Item | Description | Hours | Rate | Amount |
|-----------|-----------------------------|---|-------|--------|----------|
| 4/6/2018 | Interrogatories Responses | Preparation; Review Union application & interrogatory responses | 5.5 | 290.00 | 1,595.00 |
| 4/8/2018 | Technical Conf. Preparation | Review evidence & Prepare for Technical Conference; Call w/CCC re: applications | 5 | 290.00 | 1,450.00 |
| 4/9/2018 | Technical Conf. Attendance | Attend Technical Conference - Union | 8 | 290.00 | 2,320.00 |
| 4/21/2018 | Oral Hearing Preparation | Review evidence; Prepare for Oral Hearing | 3.25 | 290.00 | 942.50 |
| 4/22/2018 | Oral Hearing Preparation | Review evidence; Prepare for Oral Hearing; Prepare VECC Compendium | 4.75 | 290.00 | 1,377.50 |
| 4/23/2018 | Oral Hearing Attendance | Preparation; Attend Oral Hearing - Union; emails B.Segel-Brown; Revise cross for Day#2 | 8.5 | 290.00 | 2,465.00 |
| 4/24/2018 | Oral Hearing Attendance | Preparation; Attend Oral Hearing - Union; Emails B.Segel-Brown | 8 | 290.00 | 2,320.00 |
| 4/27/2018 | Oral Hearing Attendance | Preparation; Attend Oral Hearing - GEC/ED | 0.5 | 290.00 | 145.00 |
| 5/18/2018 | Argument Preparation | Review evidence & draft submissions; Review correspondence; Review Argument-in-Chief | 2 | 290.00 | 580.00 |

HST #10160 6028

Total

Econalysis Consulting Services Inc.

34 King St East Suite 600 Toronto, Ontario M5C 2X8

Suite 1204 1 Nicholas Street Ottawa, ON K1N 7B7

M5C 2X8 Bill To Public Interest Advocacy Centre

Statement of Costs

| Date | File # |
|-----------|---------|
| 1/11/2019 | 2019003 |

| Terms | Docket No. |
|--------|--------------|
| Net 30 | EB-2017-0255 |

| | | Project | | | |
|---------------------------|--------------------------|--|-----------------|--------|-----------------------|
| Union 2018 C&T Compliance | | | | | |
| Serviced | Item | Description | Hours | Rate | Amount |
| 5/22/2018 | Argument Preparation | Review application, Review interrogatory responses/undertakings, Review expert evidence; Prepare submission; emails w/client | 2 | 290.00 | 580.00 |
| 5/25/2018 | Oral Hearing Preparation | Review evidence & draft submissions | 3.5 | 290.00 | 1,015.00 |
| 5/29/2018 | Argument Preparation | Review evidence & draft submissions; Emails w/B.Segel-Brown | 1 | 290.00 | 290.00 |
| 5/30/2018 | Argument Preparation | Review evidence & draft submissions; Emails | 1 | 290.00 | 290.00 |
| 5/31/2018 | Argument Preparation | w/B.Segel-Brown Finalize & file submission; Emails w/B.Segel-Brown | 2.25 | 290.00 | 652.50 |
| | | Subtotal HST on Sales | | 13.00% | 16,022.50 2,082.93 |
| | | | | | |
| | | | HST #10160 6028 | | \$2,082.93 |
| | | | Total | | \$18,105.43 |